Pt 7-32 B E RS ECR (B &EH)

BHEBT _EH E BERTS M BEE (LT 28) 2THHSER

= Fik
FEH + J\ N
EREERIEET SN 30 29 29
& (5) 5 5 5
B HEE(3) 3 3 3
AtEZ(1) 1 / /
22 (4) 4 4 4
o £ 3
S Bit 3 3
Hhf}
FE R 1 1 1
&=
HE Hh 78 1 1 1
(3) —
/NS 1 1 1
RFEREAES BEXE 2 2 2
(3) A 1 1 1
o B 1 1 1
=—(=3‘IT BB 1 1 1
FBEA 1 1 1
Bl BRI 1 1 1
(2) £FRE 1 1 1
R 1 1 1
AN
e A e 1 i 1
(3) —
-EEH 1 1 1
PRI T EEE(A) 30 29 29
BETRPE AR MEETE 3-5 3-6 3-6
NREE 1 1 1
HEEB B ERE 1 1
BB ETRTE 1 1
HEERETRTE 1 1 1
HEBKETRIE 1 1 1
HERETRIE 1 1 1
EYRETRTE 1 1
R4 B2 SRR MEETE(B) 5 6 6
BEHEE | mEmEHK 33-35 32-35 32-35
FEE S ——
(A+B) SEREMREH 35 35 35
FERRZEGHEBEY 111.06.21

B TH EAT 4% 88 B BB 0%

74K PR FBIH BT H I ER




HER EE BRPE2AMNMSEFEPARIIREITHHIER

BEEs ik £\
BEE3 (5) 5
5
%38 (3) 3
#m (4) 4
#HE(3) 3
AT (3) 3
-
il o
£ W
EAER (3) 3
FBqE(2) 2
R R 1
s
3) e s ,
IR (3-6) 6
wmmEmy | Dol 28
&t ——
B 29
EEBTENK 35




Mk7-608 5 DTEEHE

8T BC S5 R GRr SR 28 1))
BERE RBERDE LEHh RFRETHHS

\

LR (10024F [ A a8 )

-
U 5 o B, I3[k jLE%&
cEHE R B FELEERE tE#H INEHR (0oR )
BB (5) 5 5 5 5 5 5
=
FHEEX(3) 3 3 3 3 3 3
B 22 (4) 4 4 4 4 4 4
ided 1 1 1 1 1 1
Hh 78 1 1 1 1 1 1
e & (3)
AR 1 1 1 1 1 1
e
; 8 3 3 3 3
BT E
B | BARS azgg s 3 | 3
# | 8 Hh B i 2
iE iF
=] o = 1 1 1 1
2 Hffy 17 (2-3) REEM 1 1 1 1
BB 1 1 1 1
. R 1 1 1
o5 = ER 5 1 1 1
(2-3)
e 1 1 1 1 1 1
B 1 1 1
% Mi(1-2) -
EERE 1 1 1
B & BEZE 1 1 1 1 1 1
pEmgy | ERUER i
(2-3) B 2= 1 1 1 1 1 1
EED7 S
gL | BEER .
B | (BB RARRE) S R N I N
B Y
BEEE 30-34% 30 | 30 [ 30 | 30 | 30 30
i ER T3 fF 2 2 2 2 2 2
BT | o | AREH - T 1 | 1 | 1| 1 1
238 ;E HEAE ; 1 1 1 1 1 1
i I e 1 1 1 1 1 1
= 32-35%i 35 | 35 | 35 | 35 | 35 35
EENSESES B0 H 111.6.17




IR

SH
‘Mo

g

GRS

N

111.6.21




Bt 7-78G S DTEEEE

HEUTECS AR (11052 A SRR g e 28 )

BEZEH EBRSE \EH EENEEHH SRR 10BFEEAEFER)
F& JUR— INERR
SEELE 56 7o 22 T R R tE#K orB ) NERK
BEE3C(5) 5 5 5 5 5 5
=R
FEEL(3) 3 3 3 3 3 3
e 22 (4) 4 4 4 4 4 4
FEs 1 1 1 1 1 1
P Hhig 1 1 1 1 1 1
P 1= (3)
NE 1 1 1 1 1 1
e
5 A 1k 3 3 3 3
B psae (3) £ 3 | 3
%
# = HhERF £
E | R g K 1|
B 2 ) ]
o =20 Biff(2-3) | HEBM 1 1 1 1
FIEEI 1 1 1 1
KR 1 1 1
REEE
A =z
HE 1 1 1 1 1 1
BIRE 1 1 1
%57 B (1-2)
HERE 1 1 1
T REEERE | BREB 1 1 1 1 1 1
(2-3) BE NN 1 1
5%
R | BEE#E oo
iR | (mEATR WEERO) I N L R
Rig
BEEHH 30-34£f 30 30 30 30 30 30
- LR 2 2 2 2 2 2
*-':E gE'Ii INRZEER
RE] g NERERE 158 1 1 1 1 1 1
B - rEREE 1 1 1 1 1 1
i SBIE B 1 1 1 1 1 1
BREER 32-35%( 35 | 35 | 35 | 35 35 35
ERNRRERZEEEBAH 111.6.17
FEXEZEERABRY 111.6.21




BH7-8 B HITE B IC S (111 2EE AR B oaR 4 5 H])
ERGREH REBERTE tFR ERNSEHHRSIER(MBEEREER)

%ﬁm& FmBERE te® | AEm | AER
] BE2(5) 5 5 5 | 5 5 5
£ AxEEX() 1 1 1 1 1 1
HEEL(3) 3 3 3 3 3 3
g 205 (4) 4 4 4 4 4 4
id-d 1 1 1 1 1 1
Hh 78 1 1 1 1 1 1
e = (3)
N 1 1 1 1 1 1
e
. 2k 3 3 3 3
SR F:| B4,
B | paae | BAHE raps 3 | 3
= 3)
« - Bk Rl 22
iE i B4 1 1 1 1
2B @i | BHE) | #BHE | 1| 1 1
B = mER T 1 ] 1| 1
R 1 1 1
. REEE
(AN =
:‘/\D/EEJJ (2_3) EE 1 1 1
FC] 1 1 1 1 1 1
BRI 1 1 1
B | BE(1-2) :
EERE 1 1 1
3 f =S BEHE 1 1 1 1 1 1
pmmey | AR -
(2-3) B 25 1 1 1 1 1 1
f;g eEEe
= (ZIEH B8 25 E % (5) 5 5 5 5 5 5
R #)
B
=Eeb o 31-34ff 31 31 31 | 31 | 31 31
% e B AT A 2 2 2 2 2 2
| ma | ARBE 1 1 1 1 1 1
2 | 2% ramae -5 7 T A R R R R
L | RTE
£
2T a8 33-358 35 35 | 35 | 35 | 35 | 35
ERIREZEEREAH 111.6.17
FREREZTEEERBAH 111.6.21




Bt 7-11 [ S T SRSl A R DL G R A

T S ER B B T ER T B2 Al 7 e SRER DT AR A MRS SRR A

BRI - 3] B BB F RE SRS BT L AR RV SSIENEE 14
S | ZBERERE
SEIR/AL B (R SEBs/R B Y RER BE
TR B (R TR mp | R | AE | AR anining
AR © 0 BT BEBER
. B4EE/RI E 2R
i 3C 5 5 5 5 HEREIRARES SRR
. B BIETREM R/
FE L AR EFEX 1 1 1 FIEBAs%, A tERE
— BT HERIDE,
YEFE ST 3 3 3 3 BEfiFRERE
‘ t BESk (G M HET)
B B 4 4 4 4 f SRl R
(374531 )
R 1 1 1 DU B P 7
N 105,
N Hh 3 3 1 1 1 €20
DU B BB X 67
e ! 1 ! 9%
0 3 3 [ ZEHsor]
T AL 5 DU BB R L 24 8
i3 SPAER AW 3 3 0 0 %}fﬁf
. — 4 A E i
% HERFL 2 0 0 0 FLREIS
= 7 , TELR TS AR BT
N ik HE 0 ! 0 TR AT R
A I BLAf WEEN | 1 0 0 L | WomLEE GG
E ——— S [ L LB
s A l 0 0 | meiw - T
T S 1 1 1
FEETRED I 3 1 1 1
LiEC 1 1 1
EEAE 1 1 1
B — 2
FETE R 1 1 1
EFRAE 1 1 1
B 1
uE 0 0 0
[E5 2 2 2
HRE 2 2 2
BT F AR BRI 7
4 Hbii? 7 ':F' ﬁ ) > >
ENEREIE 1 1 1
PRI AL R 8K 33 33 33 32
| BENEE 1 1 1
| e | AR ifmuzfﬁ 15
BRI PEEL =D RRAFSRR 0 0 1
R %% &
! Hofh b A e 1 1 1 1




et NS 35 35 35 35
BRI« [ R A 2L A RE BRI B\ BN - g F R
=T, 1R B
AR /R (8 2 ) ) ) RS F SR
S| O | VR UL | et
1114 o
\ 2 BT BEBER
Seu— EE7HT R /P
ZEC i > > > 5| Lot
p— B R A
HERE 3 3 3 3| s
B B 4 4 4 PHax
s B 4 b R
FE 1 1 1 BUE ST
ft HiE 3 1 1 1 pasghraess
S (i e
R ! 1 ! ke %%;%i@
ST
Bl 0 3 3| e
Ep = W 3 3 0 0 JAHE DU ELE b B
\ #8108, [
fEIER i ERA E 0 0 0 Ll%ﬂj o
B ST Yy REE R H
kS %i 4 0 1 0 fajz)(/a\%ﬁﬁwi
; e — 27) A
" Bl HL Tk E Sy 1 0 0 1 BRI R
it e EL B L A 7 75
ESW 1 FHE PEEX
. AL 0 O | @ [omessn)
T S 1 1 1 BN REE R AH
e e A —— I (0 B
SR ATE & 3 1 1 1 27) R T
- SV 47 D
i ! 1 1| mmesoEn
. £,
- BEAFH ) ! ! U lopmeeme:
A VTR 1 1 1 e TRV ET
BB G
i e i s RS E ) 1 1 1 fifio
" il 0 0 0
BEE 2 2 2
. EZR R 2 2 2
0T ¥ BB EL R 7
rh 2 2 2
BNE S|4 1 1 1
RECER ) £ B 32 32 32 32
SR 1
T
| e [T x| B ) : 0 0
BT | IEEE e ppear )| BNEEHR 0
AREE | HAREE FRAEEE
il 0 1 |
B
HoAh B NEERE 1 1 1 1
e RN 35 35 35 35




BRI - 5] B rp B2l P RE LA BT - A0 R
\ R 15 B B
fEI/R B (50 580 FEBYE e
B, SIS
| e 41 SI5] A
wim | tER | AER | A | CTTH
s D BEH F HEHER
111£84E h %ﬁﬁﬁfrg /RLE
. 2 B HERA T
- AL 5 : . 5| meenEEAA
At — B N 75 /RH
W e 4 1 1 4|
~1 | X
s 1 1 1 .
X 3 B REE
e Hh PR 3 1 1 1 HEUISE (B &
eET) B A
ARELAG ! ! U | g
iﬂflﬂfl‘i
il 0 3 3| s
S L Z8E10f, [
| HAEE | 3 3 0 o |25
ok HIERF £ 0 0 0 Y g T
== > (L
£ — Sk (B e
7 ks 0 ! 0| muasay
B R S e SRR IR o
0 ;n 2l P B 2L Afy 1 0 0 1 %ggﬁg;‘%ﬁé
—_ ES e S e 9%@0 E‘ﬁ\ﬂ}-
E F BT 1 0 0 %?Eﬁzvﬁagﬁﬁa
G . e (i B e
2 X : : L e may
e TEE) O 3 1 1 1 PR 25 DU 2
- B A=
TP 1 1 1 fifi,
—— 4 5 U L [
- EAFHR 1 1 1 AL B
Bllo
pepeEan | fERHEE . 1 1 1
iG] iy 2 0 0 0
B 2 2 2
Ffi ¥ RE SR AN , 2 2 2
5% th 2 2 2
ENERRIE 1 1 1
PR T8 32 32 32 32
. EZmitie 1 1 0
$ -
B i Ve 2 s (B ﬁﬂg%f’h 1 1 0
BT | | e | AIRESE 2 0 0 1
e | B = RAIFEE
i = 0 0 1
T2 -
e | NRERE 1 1 1 1
e S ST 35 35 35 35




